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500,000& = 109H 5,000
ool K& 412,000 500,000 A 88,000
= 288,400
< 37,080
s 86,520
307 glz2tol & 412,000 500,000 88,000
= 288,400
< 37,080
s 86,520
05 RIZHRI &3 242,000 335,000 A 93,000
OOlOIE8 XNEAMS(MISEHER)
242,000,000& * 1004 242,000
= 169,400
< 21,780
e 50,820
11T M Z2XASE EX 170,000 165,000 5,000
0 0t0I=ES XML (StSXAXEHH)
170,000,000& * 1JH 2 170,000
= 119,000
< 15,300
e 35,700




SN Eo=)
g d=1sd
Cel: ANISIEA T2IUNY UL AALS (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZE202A SR0I] [MH LdsAHHA 17,500 10,680 6,820
< 5,250
s 12,250
201 £B-2d| 500 0 500
< 150
s 350
03 A2 Z Hl 500 0 500
0 AHZ ZHI 50,000& = 10& 500
< 150
= 350
301 LEPEXF 17,000 10,680 6,320
< 5,100
e 11,900
12 JIEE 43 17,000 10,680 6,320
2EO0IUX YR K SFMHIA
1,700,000& * 1¥ * 103 17,000
< 5,100
[ia 11,900
HEZAZAHANE SAA J=22 29,000 39,618 A 10,618
< 5,800
e 23,200
307 glz2tol & 29,000 39,618 210,618
< 5,800
s 23,200
11T MISXASEX 29,000 39,618 A 10,618
0 EEZH2ASHANE SAA Jles NE
29,000,000 = 1004 29,000
< 5,800
e 23,200
Ct2sts 68 MEIHE 2 2,500 2,500 0
< 2,500
201 Let24] 2,000 2,000 0
= 2,000
03 A2 I 2,000 2,000 0
0 UIE3itsE 28 NEHZE 29
2,000,000& = 13l 2,000
= 2,000
301 LEEXZ 500 500 0
S 500
09 HALAHIX A S 500 500 0
0 HH NEHZ E&48% 243
10,0002 * 50 500
< 500
01Z00] DSTIZIH(22Y AHAY) 2% 13,000 13,000 0
< 6,500
fia 6,500
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SN Eo=)
g d=1sd
Cel: ANISIEA T2IUNY UL AALS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ad=8 IohA Xigsls T2 29 2,500 0 2,500
J| 1,750
< 375
s 375
307 gl2tol & 2,500 0 2,500
J| 1,750
< 375
s 375
11T M SRAISE EX 2,500 0 2,500
0 428 Ik Xz 2208 Xd
2,500,000& * 1002 2,500
J| 1,750
S 375
s 375
OlE1210t7 HAEME XEAS 5,000 0 5,000
< 1,500
s 3,500
201 £B-2dH| 500 0 500
< 150
i 350
01 At 224l 500 0 500
0228 MH™ & FAUEEFFY S
500,000& = 13l 500
< 150
s 350
301 2N = 4,500 0 4,500
< 1,350
s 3,150
01 Ml2ZE 6= 4,500 0 4,500
0 01412017 CHMENE XI& (18Jt7)
250,000& » 182t+ 4,500
< 1,350
s 3,150
SSSHELY et ATE &R 6,000 0 6,000
< 1,200
[ia 4,800
201 Let249] 6,000 0 6,000
< 1,200
[ia 4,800
01 At 22l 6,000 0 6,000
0 2SS A8 7Y
20,000& = 3004 6,000
< 1,200
s 4,800
HE2IZH (== 36,840 36, 160 680
Jl2ddl (=2 d=sn) 36,840 36, 160 680




SN FUH=D
HE: HYRYFH (FUYSD)
chel: D= FH(FUE=) (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JlE&l 36,840 36, 160 680
201 £B-2d| 32,640 31,360 1,280
01 At 22l 32,640 31,360 1,280
0 2M2E Let=ESHI(2S)
560,000& » 249H 13,440
0 2M2E SHHI(2S)
8,000& = 24% * 100€ 19,200
203 ¥ S =&l 4,200 4,800 A 600
04 FEANSEHR=LH 4,200 4,800 A 600
0 BM2Z 350,000& = 12& 4,200
Meegs(=adsi) 704,672 656,951 47,721
WEHAXS (L E=D) 704,672 656,951 47,721
HEHAH X = 704,672 656,951 47,721
701 JIEtI HEEES 704,672 656,951 47,721
01 JIEtel HE &= 704,672 656,951 47,721

0 A2 =0IISEESEIH dES 704,672




